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1. In the following battles, which one is not correctly matched ?

A) Battle of Tarain : 1191 B) First Battle of Panipat : 1526
C) Battle of Wandiwash : 1760 D) Battle of Haldighati : 1581
2. Arrange the following in chronological order.
i) Rowlatt Act i) Poona Pact
jii) Partition of Bengal iv) Lucknow Pact
A) i, i, i, iii B) iii, ii , iv, i C) i, iii, v, i D) i, v, i, ii
3. Correctly match the following.
List-1| List =i gy -
i) Regulating Act of 1773 a) Mayo
i} Subsidiary Alliance System b) Linlithgo
iii) Department of Agriculture and Commerce ¢} Wellesley %
iv) August Offer d) Warran Hastings a
A) i-d,ii—a,lii-c,iv-Db B) i—-d,ii— -a,iv-b
C) i—a,ii—d,iii-b,iv-¢ D}i—a,ii—h.ill—d.iu-c
4. Warsaw Pact came into existence in
A) 1953 B) 1955 C) 1949

5. Match List — 1 and List - I

List -1
nmmm
ii) Sree
:}IEI“ . '1‘_'-.':’75“"&:‘_::'

hm T
A) i—¢ ii-d,ii-a,v-b  B)i-dii
C)i-b,ii-aiji-div-¢c  D)i-a

6. Which is the correct chronological sequence of

i) Kurichya Revolt ii) Attingal Revol
jii) Treaty of Srirangapatanam iv) Martyrdom of Velut
A) i, v, i, i B) i, iii, ii, v C) i, iil, v, i
7. Match List - | and List - Il.
List-1 List=1l

i) Tattvabodhini Sabha a) B.M. Malabari

i) Rehnumai Mazdayasan Sabha  b) Radhakanta Dev

iii) Dharma Sabha c) Debendranath Tagore
iv) Seva Sadan d) Naoroji Furdoniji
A) i—c,ii—d,iii=b,iv-a B) i—d,ii—-a,ii-b,iv-c
C)i-c,ii=b,li—d iv-a D) i-b,il—a,ii-c iv-d
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1. maerp mariidleaym ayavmegel, agmoen wdlwowl ¢aromme 7

A) sonoaiinl myave : 1191 B) amoo asnoflgel ayaue : 1526
C) cuserlcuionst myaves : 1760 D) aneladioog] ayave : 1581
2. WEFE IO LLIBICOETHT (DD )Py,
i) Ovesy mmday ) aym psous]
i) eruewodd nilesme Iv) el esoud
A) i, i, i, iii B) i, @i , iv, i C) i, iii, iv, ii D) iii, iv, i, i
3. eno6rd AW S0 injon 1) @ iBee.
aiga - | asgle — If
i) 1??3mmww a) mewo
i) muenimiufiad spaflamdbed mige b) ellrbellmiac
iil) cufig jodsnany eond mowlleoh.ad epoda ssmosadrd c) exugierial
iv) @ay @oaod d) cusoad
A) i=d,ii-a,ii—-c,iv-b B) i—-d,ii-c,iii—a,iv-b
Cli-a,ii-d,ii-b,iv-c D) i-a,ii-b,ii-d,iv-c
4. cuodemuo gsoud] aflac el curmed
A) 1953 B) 1955 C) 1949 D) 1952
5. algke: @mjo memjo a0 injon sl @.aidaa. :!
. ndgle = gt — I |
i) @ruemonm qupdl cilcusmocd] a) meenemm allomo aicml :I
i} g@momomem ey b) am.alctasmeme 1
i) asgmd copdile.cd ¢) igialap s -
V) 6. all. dcyn dd d) eear amde
A) i=-cii—d,iii-a,iv-b B) i-d, ii—a,lii=b,iv-c
C) i=b,ii-a,iii—d, iv-c D) i-a,ii—c,iii-b, iv-d
6. @06 B ISl MOBUMBEINS EIBICETHT (Eilo oGy 7
i) @ycilal) sang i) modlemd aang
i) g@imowaigeme gemud iv) enuegemamil eprumnes nemomossme
A) i, i, i, i B) i, i, i, iv C) i, i, iv, i D) iv, i, i, i
7 nigkeh BOMjo BEMjo @.2iR0n i8] 4.0 e,
wgle - | aige 1l
1) magaswiod mus a) enfl agie eesnad
i) @Canm@onl amdeommdd mue b) mowsdommo aanl
il waan qus C) amesnNm Mmoo soeood
iv) amocu ooedd d) mcuanosdl anfenoonisd
A) i-¢,ii—d, lii-b,iv-a B) i=d,ii—a,iii-b,iv-c
C) i=gli-b,ii—-d, iv-a D) i-b,ii—a,ii-¢, iv-d
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8.

10.

1.

12.

13.

14,

15.

16.

mmmmmmﬁwmmmmmmmm?
i) Boston Tea Party
ii) Pride's Purge
iii) Declaration of Rights and Grievances
iv) May Fourth Movement

A) Only ii) and iii) B) Only i) and iii)

C) Only i), iii) and iv) D) Only i) and ii)
In Mughal Administration, Khan e Saman became the head of

A) Revenue Administration B) Religious Matters
C) Royal Household D} Military Department
The Travancore University was formed during the reign of

A) Gouri Parvati Bhai B) Sri Mulam Thirunal

C) Chithira Thirunal Balaramavarma D) Ayilyam Thirunal

Which one of the following is/are requirement for remote sensing 7
i) Radiation by energy source
ii} Interaction of energy with target
iii) Transmission, reception and processing
iv) Interpretation and analysis

A) i) and ii) are correct B) i) and iii) are correct

C) i), i) and iv) are correct D) All the above are correct
The scientific discipline that deals with the measurement and representation of the Earth
A) Geodesy B) Cartography

C) GIS D) Photogrammetry
Identity the pair which is correctly matched.

a) Aravalli Range : Delhi to Ahmedabad

b) Narmada Valley . Rift Valley

c) The Peninsular Plateau : 1600 km

d) East Coast . Kaveri Delta

A) aand b only B) b and d only

C) conly D) a,b,candd
The upper air circulation or system influence the Indian climate is

A) El Nino Effect B) La Nina Effect

C) Jet stream D) Cyclones
Child sex ratio in Kerala as per the 2011 census is

A) 964 B) 960 C) 943 D) 948

Goods and Services Tax (GST) came into force in India on
A) 1% April 2017 B) 1%July 2017  C) 1* April 2015 D) 1% July 2015
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ARl TR oD@ LML S M SRR TICECLISTEN agexTmoaSamos 7
1) aeuogpent 2 asoid)
i) edunsmy ode
i) ruligyecinnd eond eeogmi e wileoudbmm
iv) el enoodal ayoloadg

A) i go il mome B) i ge i moyme C) i, iii ge ivaome D) i go i @ome
ayinod ememarilad euood & romod mesrumo

A} oxumy ememe B) amcinaow @onsmod

C) mom £es05000 D) esmorfies aueya]

(Sorunbaygd aperiiacudmild) muooa imaome’ Epaies sremesoeim mpen ?

A) ool asdcum] gow B) @layeio aflaymodd

C) alimmiie eflaymodd sruosmon cuba D) meaie)e aemodd
maes eosymildlenmomaiad apmoent dleneg eaudmilendiod aom oo apaa ?

i) grote armompled afledeeme

i) potmoye slesnp@omes nelincdomme

i) moosiasemoye, millenemoge anmqpioone
V) e pmage alleesemogo

A) i ge i go cadlawosry B) i go i go tedlmoent

C) i go i go iv go tedimoent D) myegled melaloa aggooe tadlaoen
aydlayes aegamusienege mraland nieflnloamayo o rdeanmn Moo agmoe 7

A) sfleaosouwmi B) &obezoimnad

C) elamagymi D) eancegononmis)

.2 iMon S| @RI SEwIBOTTd:.

a) mopmorug] o | autbad oyl meanemaEsensd cuan
b} méaas modruome ;@ dlads movnuone

¢) petalol afloaad @ 1600 =l o

d) errea ot : soscud aong

A) a ayo b aye moyme B) b wye d aye aome

C) ¢ mopmo D) a,b, ¢, d

goem b dmostorumIna eunuilenm SmBM M Me.alsime EBLOC Monlwame
agymaend 7

A) agd oflemo purubemme B) en afimo ucudamme

C) emg mfle D) aysel sog

2011 eeroaboremd’ | ssome ssngeiies sydlegdon elonamninme agimaoer ?

A) 964 B) 960 C) 943 D) 948
crgeudimy ampebow emueliedmd oflegef (&lagmisl) agomoend efleicddd curme ?

A) 1 agyn e 2017 B) 1% syoea 2017

C) 1# agin et 2015 D) 1% mygoee 2015
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17. Consider the following statements
i) RBI has the monopoly power of issue of notes and coins of all denominations in India.

i) ABI keeps and manages the foreign exchange reserves of India.
jiiy Open market operations are conducted by RBI via the sale and purchase of

government securities.
iv) During inflation, RBI reduce the Cash Reserve Ratio.

Which of the above statements is/are correct 7
A) Only i), ii) and iv) B) Only ii), iii) and iv)
C) Only ii), iii) D) Only i), iv)

1B. Which of the following is the single largest item of public expenditure in India 7

A) Interest Payments B) Salary and Pension
C) Defence Expenditure D) Expenditure on Social Services

19. Consider the following statements :
i) Direct taxes are those taxes in which impact is on one parson and

incidence on the other person.
i} Indirect taxes are those taxes in which impact and incidence are on the

same person.
i} The burden of indirect taxes can be shifted.
Select the correct statements.
A) Only i), i) B) Only iii)
) Only i) and iii) D) Meither ii) nor iii)
20. Which Fm?mrmmumﬁmmmmhmu—-u_an
l poverty as a prime objective 7
A) First Five Year Plan B) Second Five Year Plan
C) Fifth Five Year Plan D) Fourth Five Year Plan

21. Which among the following is not a basic objective of creating All India Services 7
i) Maintenance of law and order
i) National unification and nation building
iii) Promotion of decentralized governance
iv) Managing federal polity
A) i) and iv) B) ii) and iv) C) iii) only D) iv) only
22  (Given below are two statements, one labelled as Assertion (A) and other labelled
as Beason (A). Select your answer from the codes given below.
Assertion (A) : Public Servants are to be free from palitical bondages in making
decisions affecting public life.
Reason (R) : The Public Servants are committed for the implementation of public
policies approved by the political executive.
A) Both (&) and (R) are true and (F) is the correct explanation of (A)
B) Both (A) and (R) are true, but (R) is not the correct axplanation of (A)
C) (A} is true, but (R) is false
D) (A) is false, but (R) is true
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mErS @IS (UMMl aidluer ).
i) eomyuiad mpd.emil.oag). snoent ajn i MOMEETERS ALOERROSNOTIEE ST
CLldh0be DS,
i) mmymyes allssmmoemu eusune Mujealeaea)e BRI 0 6Oy B0 61 gy
i) ssagjeni odeadloe nicudemmesdd b, el fog). ey oouaE Brds )
Sgles allgmaye cuoame)s ayeaumaoer.
iv) mosmieniniole SENEIEIEMUNGY mad. enll, Bng). & pndf dlemdal enean)o eyoemmy,
By TN ROMIRED (PO EE0aTT cod] 7

A) i, ii go iv mopme B) ii, il o iv aowme
C) i, ili moume D) i, iv aome
moes esosmildleamoaind agmoent mudencd ealom allanyed ages aggaye
cugflawm ?
A} aelios mosoye.d B) wougnye endasme
C) wuaflanow allesed D) muoayacie: arooumaniimoayes o e
@oers @ildleaym ranyocme o idloenileas.
1) awwod aileyl agymmon, pmicg e aysefaiego mamiada aagon aysmioleye
A el

i) csamodm ofleyad [M ag)mad Gmuddglo Exabmiluidmo ey oljemioied
@Dy (il afiamonnd.
i) atsmoes dleyeilayes Gove HaE:@IRe S.aIQIOLMmIET,

LI (UMl ol ne e .
A) i, i @ommo B) il moumo
C) i, iii @ame D) ii go iii go mag)
a@ml alemucuamun cavaliooen’ apainod aodlzy rldasdsme [0 St \momll o] ogm 7
A) armoe alsrEmICLETNG aJaoal B) memmoo coemucummie asavad
C) mmemuoo asemurumron cimo D) mosise asemucumne acoad
moers exmisyiidlaarmnfial sadd oo cudalmiedd mrdlmunom eleae mrgpEmE agmoeT 7
i) eeo @l eobaud oileinfiferme.
i) esvfie agedlenmoyo aam aibaoemalo
i) aflesdleymaow sremamlad ojoaime
iv) sanwomd saogdd) riaymieans
A) igoiv B) ii o iv C) i mogmo D) iv aoymo

moers eI Eldleaymm pens) cuskssmglt el Assertion (A) agmie  Feason (R)
ag) e Mmswogaosewlaidenmm;. redwom gamnc mloaemmS]ee .

Assertion (A) : mideaad elirumeacd nolsglw aumumemgad oime mumrmooooeT
Sy EmeEag euowleamm ellaaomemod ofsieaocy,

Reason (R) : sopghlw emmosad moudledenm mdenod amumled msqflad
cumyEmod quibensd geayomund suowymaod mepen

A) (A) ayo (R) go codlaoend, (A) apes mdwom allursmacar© (R)

B) (A) aye (R) go codlmaent. aizsar (A) anes odloom aflcumemag (R)

C) (A) oflwoen aiesat (R) emgosr

D) (A) emgoent aiasa (R) wdlaoer
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23, Which among the following is a condition to become a national political party in India 7
i) It wins atleast two percent (2%) seats in the House of the People and these
members are elected from atleast three different States.
ii) It wins atleast five percent (5%) seats in the Council of States.
fii) It secures atleast two percent (2%) of the Chief Ministers in any States.
iv) It secures atleast six percent (6%) of the valid votes polled in the State ata
general election, either to the House of the People or to the Legislative Assembly

of the State.
A) i B) ii C) iil D) iv
24. Which among the following agency comes under the purview of Right to Information
Act ?
A) Directorate of Revenue Intelligence  B) Assam Rifles
C) Directorate of Enforcement D) Prime Minister's Office

25. Which among the following statement is not true about Lokpal ¥

A) Lokpal consists of a Chairperson and eight Members

B) Among the members of Lokpal, 50% are from Judiciary

C) The Chairperson and the Members are appointed by Prime Minister
1 D}ﬂmrﬂﬂmmantagaufnmn'bamismmrs

26. manmgmahhwingmnﬂlnﬂmnmiﬁngcmnnﬂtmdwmn?

A) Jawaharial Nehru 8) Alladi Krishnaswamy lyer
C) B. L. Mitter D) K. M. Munshi

| 27. mmmmmmmmw,m.mum?
A) 42 Amendment B) 44" Amendment
C) 64" Amendment D) 73 Amendment

28, Which among the following is not an implication of financial emergency ?
A) Reduction of salaries and allowances
B) Financial bills will be reserved for the consideration of President
C) Reduction of salaries of Judges
D) Abolition of the post of Finance Minister in States

29, Which among the following is not a function of Finance Commission of India ?

A) To recommend the President of India on distribution between the Union and the
States of the net tax revenues.

B) To recommend the President of India on the principles which should govern the
grants-in-aid of the revenues of the States.

C) To recommend the President of India on the measures 10 present State finance bills.

D) To recommend the President of India on the measures needed to increase the
Consolidated Fund of a State.

A -8
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23. moey aueogymrlidleaym agemoass mileumumdedd apeni gonjaies e eacdlo axallo
Al @Dy alselleanemmal 7
1) sansmaciol opmendloal 2% milqred allmallensaye mp mrocemd agomy ouym i
meoruosmemsglad aiimme alleaemms a5 o S KgHE..
i) evoedorilel @oad aquriled ogmendioal meemy eaaome (5%) miidled malende.
i) mpes ayaymoviodel oymedoe tem meome (2%) mgeyanTzoen ems.
iv) memuoomenged acsmy clleasmmsafiol, sene medisaesns roamenicacsnd

aymerdioe’ apoyusmacte (%) muouwruomw enuss emsemo.
A) | B) i C) iii D) iv

24, moery exeosyemiidlesymouciel apal ageabmiaeT clliusocusowe ailoasmiiond el

wiled cumgrmad 7
A) wwodgand eoad orumy el B) moqyoe esnaddbmi

D) sy monadlad dswiaant niowe 70 amer.
26. moers eosyamildlesymoudind mpecer momyih seemeaISmaeS [Udnsilocd examldkoldl

T ? g

A) mouandeodd exmeaciog B) mmgiod] eyeafemmopd mogyd |

C) enll. agyh. digd D) o age. mybasd \

27. amemeasmayes agel meafeaddal crdomer mpdglediid J00A o) cummal ? l
A) 42™ monadiemobod B) 44" meeaninaibo |

C) 64" meamafaacbol D) 73" amwaacifaacboy g

28. moauanils mslpoileiumoaes rimInelNme MRS afal ?
A) warugmmilege eny Epmjaa;mEgdee 988 ayon
B) momumrdle. enfigyadd eopgrimilayes aemaaieccal aodl anusasasio
C) mpwauiames wrugmmdied ges eyoal
D) memunsmeregdine wmeon) armiasnes saamyedd old.ay allsaqgse

29. moey comyrmouaid apmoant EOMIELeSs WMo dsadlesad eboosdluialtt cusommal 7 |
A) metunomesmeienio e mubenodime gsald oflegsll cummame alleflearmn? Al
mosrumuil ] soom b edipganflamos ohjasolon Go g,
B) momuomemsgies cugmamaiial mabemenagmm coadfind @b agyaio ofidemallenomag
mEmETEcd gom i mojgaloiles vayalobon mbe)e..
C) memuomeregies muomummiles enflgyed aeoumda]encd pas dafled gom i
Do il (RaoBUs My,
D) memupomssegns aflaym muamummiles oflul (@enemoglsaugnl aoend) aysinuomas
Inlielingrd dycsla] enemy moiro iileel tejn1odon M.
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30.

31.

32.

37.

41.

42,

43.

Which among the following terms was not included in the Preamble enacted on 1949 ?

A) Sovereign B) Secular C) Democratic D) Republic
The word ‘Snatch’ is associated with

A) Weightlifting B) Basketball C) Cricket D) Hockey

The 2018 Winter Olympics was held in

A) Canada B) South Korea  C) ltaly D) Russia
Vimala Devi is an important character in M.T. Vasudevan Mair's novel

A) Nalukettu B) Manju C) Kaalam D) Randamoozham
Bharat Gopy won the National Film Award for Best Actor in the film

A) Yavanika B) Ormakkayi C) Kodiyettam D) Chidambaram
The Mehru Trophy Boat Race is associated with the

A) Ashtamudi Lake B) Vellayani Lake

C) Veeranpuzha Lake D) Punnamada Lake

The pen name of the Malayalam writer V. V. Ayyappan is

A) Kovoor B) Kovilan C) Kuttetan D) Kuttipuzha
The 2018 Asian Games was hosted by

A) Thailand B) Japan C) South Korea D) Indonesia
The Malayalam film which won the National Award for Best Feature Film in 2018 7
A) Bharatham B) Vanaprastham

C) Thanmathra D) Marakkar : Arabikadalinte Simham
The 2018 Commonwealth Games venue was

A) Scotland B) Australia C) India D) New Zealand
Which writer won the Jnanpith Award in 2007 ?

A) O. N. V. Kurup B) M. T. Vasudevan Nair

C) S. K. Pottekkatt D) Akkitham Achuthan Namboothiri
Which is a category of impact printers 7

A) Inkjet printer B) Laser Printer

C) Plotter D) Dot matrix printer

What is “Social Media Optimization™ ?

A) Writing clear content

B) Creating content which easily creates publicity via social networks
C) Creating short content which is easily indexed

D) Create content for social networks

FIFO scheduling is
A) Fair-share scheduling B) Mon-preemptive scheduling
C) Deadline scheduling D} Preemptive scheduling

A0-
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30. 1949 ai agermog ena) EpaysumEled gl Moman afmoen 7
A) smocusaod B) snuaaed C) snwsan@oifles D) clojegles

31. ‘Snatch’ agym cuossl enmuegghileame

A) moersapomo B) enomisedenod C) eleand D) sanoes
32. 2018 ali eglmig msmna .

A) somaw B) moewi eseocie C) gprel D) camy
33. age. €l cusaueacud mommes amaruallas [pIwHm @0 Bpimasen flnesesal.

A) moepees B) oemwm C) s D) memeooaywo
34, maal ewnoalled a@noge mgy memes eaullo o eapote @lgio miaio.

A) aouiles B) asdmesonl  C) essdiownoe D) alaceume
35. emardcy esdadl cugic el aumueasldaaymal

A) mocgayd sowdd B) scussswer somf

C) clleidayy sowad D) agmas oo
36. oemwoge agyFmEEonmom alfl. all. egeedl myeleomon.

A) emaciyd B) eaoafeii C) eyaggeid D) @ygflape
37. 2018 ee agre b exoailemiio’ epailewname cuadl oo age aomymoer ?

A) momieodod B) mojond C) moem esodle D) pemoemes)
38. 2019-a ngoaye Mgy e imardimes eooflo apeapote emdlo oemog o8l o filo agmoe ?

A) samo B) cusmiasmoe

C) momom D) avsencd : mosmienselad micune
39. 2018-ea eespanbarutiem aualcmi Mmsom moske agmoae ?

A) ampaged B) moemyeio C) gy D) nyerdflesod
40. 2007-# smemomeallos maruobol emSim ag)semE:ond e ?

A) 8. agyid. all. ayogn] B) agpe. 9. cusmyeacund momid

C) agmi. e, ealsgenis D) messiome mo.oymab ooyl
4. g i aged allescoemiind piagsiomy, ?

A) spobesamag (o B) caimd wlldbid

C) agyosh D) swog molg widd

42, mannacw)d Solfleaeemauid agrmomd agomoer 7 ks
A) OmIOW HERSHN ag) T
B) ermoayyml emgrubed orl rupen anine lalone Mibeym alwass paaseto midatlens
C) oy afiamdd middlencd amoines alwe aoidio paasenc miidaleans
D) amoasymh emgrudensibenial gassenc oildaleene

43. FIFO easnwyglecd agyrmom agomoer ?
A) anomid-eamd et psloud B) amoenb-indl agoniglal eassowysllod

C) enwainaad e yeloiD )l agoalfiod ensow o
A -11-
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44, A device that connects networks that use different protocols
A) Switch B) Hub C) Gateway

45. Stealing any digital asset or information is listed as a eyber-crime under which
Section of the IT Act ?
A) 65 B) 65-D C) 67 D) 70

46. Global warming can be controlled by
A) Increasing deforestation, reducing efficiency of energy usage
B) Reducing deforestation, increasing the use of fossil fuel
C) Increasing deforestation, slowing down the growth of human population
D) Reducing deforestation, cutting down use of fossil fuel

D) Proxy Server

47. The main policy goal for The new Science, Technology and Innovation Policy (ST1) is
A} SRISHTI is the main policy goal to led path for India
B) To translate this action into vision
C) A dedicated Policy Research Cell is yet to establish
D) All of the above

48. Which of the following is not true about Indian Space Research 7
A) The first satellite launched in India was Aryabhatta.
B) Great Scientist Dr. Vikram Sarabhai is known as the father of Indian Space Research.
C) ISRO was set up in 1962,
‘D) IRSO reports to Department of Space, India.

49. Name an Umbrella Programme that was launched in 2007 to promote R & D.
A) International S & T cooperation
B) Scientific Excellence
C) Creating and Nurturing S & T Human Resource
D) Nano Science & Technology

50. REDD Plus Programme is concemned with which of the following ?
A) Millennium Development Goals (MDG)
B) Muclear Non-proliferation Treaty (NPT)
C) Convention on Biological Diversity (CBD)
D) Earth Summit

51. It the arithmetic progression whose common difference is non-zero, the sum of first
3 n terms is equal to the sum of next n terms. Then, find the ratio of the sum of the
first 2 n terms to the sum of next 2 n terms.

A) 5:1 B) 1:5 C)1:10 D) 10:1

52. In aschool of BOO students, every student reads 5 newspapers and every newspaper

is read by 100 students. The number of newspapers is
A) 20 B) 60 C) 80 D) 40

A 2.
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LY PETBEIM Sinlde5ieaacd paiswacilaanm udleacmysag sumdaflenom golsname.
A) ol B) anenl C) awg e D) sl emodoud

45. agemeileye eny wlslind epgfiewos alltunaas eandemymal sog). Sl ABLglOR agel

47.

49,

51.

aildlesy s 7
A) 65 B) 65-D C) 67 D) 70

APAOBMIaIMo ilayrileaniouond aoigioaimmae

A) cum midflaneme rubadlaleas, 2R HoIeWINETHNORE SO0 BHNE SyORIE:
B) cum miflaneme dEaOqi, SRR MM Haldne EySid

C) cum muflameme cudadiafleans smmoal) cudavmol aeaag) Sy0qIe

D) cum muflaneme SO, SN0 MM HaldWIEAED #:00 | Banm SlOHE:

ayefia cray moemale: gparmosnuasad (STI) swndmiiayes nawam eseaie agomoen ?

A) prmymes aemogies uglajayes wom ofdemallemnm eaoglmd oy siem o
myeifl (SRISHTI) agend.

B) g7 edammilom (mpead) @i aigps (nflai) apol cdlemoagsomye.

C) eay madqfla saogdl doud.gl emd gesossasdialdlenmy,

D) ayesglled uoemmiidlenmal aggioo

ooy acryend clrod o] ecdueamaenaiem eycila] moen anemmiidleamales emgooal agei ?

A} mmy aflesma o) SBa) Solitiabe EDE)ES HET.

B} mmyad aqymi dlmod.gflecd aosed agrmdlmeag sl oy woypeem sauogd
il roonamami e,

C) eag). agmi. amd. @, mnoallam 1962 i mpeni.

D) eag. mod. agmi. &, gomyd awlopdgeacd aoad sqymilal degyods a.aigymmy,

ad gl ol s omrsadio lesycuomonil 2007 @ ayarmog anlg,) Arotg) alauel agmoe ?
A) eopdmonsened agmi mpdl €] aaoboiatnud

B) romofladles aggaenbmi

C) agmi mpd €1 momau alscusuad] myefige aldldaldasemogoe

D) moema momxiimd o] ersasemogsel

REDD g el mosny cooayrmaiiod agomessl] srumuaagmaan ?

A) deginiwe aoucuenjoad ewnadomi (MDG)

B) myglad amoed nloelaanenaad S (NPT)

C) aerdacuntond e susmogslead aaowanrdmid (CBD)

D) agyben coecy

(MUOLOMET CLYEMIC Al \M@I0Em & Tuasme cuaenicios mpa) 3N Mok SRS EDEKE:
ok MDSLET N TUOEL|EHEIES M anEms myal ymoen. af)eslnd e e 2N Mol Ehaas e
@b OSle mallmedate SER 2N TRl @EAINSTlo D6 MiEDIaSmio DMLl
g ?

LT

A) 5:1 B) 1:5 C) 1:10 D) 10:1

800 alspdmdenes ey myded aaes alapdmdae 5 amwe uoalemymmysd. e
adimaye 100 afepdmded coolenmmsns. o maBgInS agiiie aglm 7
A) 20 B) 60 C) 80 D) 40
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53.

54.

55.

57.

29.

61.

A memorial trust donates As.10,00,000 to a school, the interest on which is to be
used for awarding 3 scholarships to students obtaining first three positions in the
school examination every year. If the donation eams an interest of 12 per cent per annum
and the values of the second and third scholarships are Rs. 40,000 and Rs. 25,000
respectively, find out the value of the first scholarship.

A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

In a city, B0% of residents have a scar on one eye, 80% on an ear, 75% on an am,
85% on a leg and x% have a scar on all the four limbs. The minimum value of x is
A) 10 B) 15 C) 20 D) None of these

A housing society consisting of 2,750 people needs 100 L of water per person per day.
The cylindrical supply tank is 7 m high and has a diameter 10 m. For how many days will
the water in the tank last for the society 7

A) 4 days B) 3 days C) 2 days D) 1 day

A thief is running away on a straight road with a speed of 8 ms™'. A policeman chases
him in a jeep moving at a speed of 10 ms™". If the instantaneous separation of the
jeep from the motorcycle is 50 m, how long will it take for the policeman to catch the
thief 7 ;

A) 25s B) 20s C)50s D) 30s

A tea merchant blends two varieties of tea in the ratio of 5 : 4. The cost of first variety
is As. 200 per kg and that of second variety is Rs. 300 per kg. She sells the blended
tea at the rate of Bs.250 per kg. Find out the percentage of her profit or loss.

A) 2.27% loss B) 2.27% profit C) 5.14% loss D) 5.14% profit

The length and breadth of the floor of a room are 7.5 m and 2 m, respectively. Forty
tiles, each with area %m’am used to cover the floor partially. Find the ratio of the

tiled and the non-tiled portion of the floor.
A) 10:1 B) 1:10 C) 5:1 D) 1:5

The average marks of boys in a class is 62 and that of girls is 52. The average marks
of boys and girls combined is 60. The percentage of boys marks in the class is

A) B0 B) 50 C) 60 D) 40
3 women and & men can together finish an embroidery work in 5 days, while 4 women

and 7 men can finish it in 4 days. The number of days taken by 1 woman alone to
finish the work and also that taken by 1 man alone are respectively

A) 20 and 40 B) 40 and 20 C) 60 and 30 D) 30 and 60
In the sequence given below, the number after 34 is

3,4,7,7,1313, 21,22, 31, 34,7
A) 38 B) 40 C) 43 D) 45
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55.

57.

59.

60.

B81.

101/22 - M

an) mgond 1Soy mi«lo10,00,000 youaes welnald ormyasend allepaoees
Cuoeails cdlamalol @a) nyTTy MUOOMETE) agEmT eydecdban; spogteia | mtleyma
£ mjds et 12% alelloe amsymyend, eemoceEm@le QMMOGRTB@e MUOIMERT
wino@ee 40,000 go 25,000 go enpoginsfla| moayrmy ageied smmoo musmemes
cullayodadles aidienm empopiatio] agim ag SeemeEmw.

A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

ey muesiae 80% apdensdenic ay alosgemd. 80% mpodencded any a.ainfaid
nlogiend. 75% mpodanoded aay Sgflege, epcienobas any emosllege, X% et
aipis moel mecumcussglage o neiend. X o a@Raye S0TD Qelio agimaoen ?

A) 10 B) 15 C) 20 D) pemormmgy

an aoromied emoeamcidios 2,750 spdeacdint, anoies ey doume 100 elgh ecugge
mqumwmmﬂgnn?@@m

1ﬂdﬂquuwmmq@pnwm
A) 4 dicurme B) 3 dicume C) 2 dicumoe D) 1 dcume

8 ms™ o any ppd e embdssaaist peg sosuid eosyrmy. eey sacelmyeoe®10 ms!
# doidaytn oot sasnm olmmyserry. @0 didosomiod sl fme saorgod somedgd
e sailed pag g 50 digh epesmelad, agim emee ae:end saoellmyeond eagam
afigleao ?

A) 258 B) 20s C) 50s D) 30s

e, emaiel @gjussaodl cadime amaiaed 5 @ 4 aempoonemiod e L)
wime smaiesd elaened 200 guae samesasrmalnao’ elasnes Mjatmge

Allesmos. emaile swosfiplloyel aldaeymel slasoss’ 250 aogoet. gl eosoml
SOReWwD Meagmeileniams (RIS EEmEnIEa)d:,
A) 2.27% mato B) 2.27% aoso C) 5.14% mego D) 5.14% enmo

1
e, ydlages momes diange aleflae awimae 7.5 digoe 2 digoe e T digd
mprd 9as 40 eeselnd goemodlel mo ssdleasal ad. eestnl pepms ggoTmmmIw

MOWSS WRTYnIdme agymooer 7

A) 10:1 B) 1:10 C) 5:1 D) 1:5

an) goqien aperdeyglages weowd aoted 62 go aumeydeges aobed 52 go
AT, By gldhaasue aalsmeslaqesaye waocndl asded 60 mpoemeslal
@D ghoqint mpenaydladbes agim emacme aodes perd 7

A) 80 B) 50 C) 60 D) 40

3 leideae 6 aymaudasdene gl an .?)aatnu:m‘lmxﬂ amoell 5 dloume eeom
afibeayruomodyo. mRMEIaal 4 nlmesmodene &gl 4 dourme o

iy ruamidge. agmmott ey kg axme moell e.aigoege B n sl Bome AR
axoall afldenodd agisieaim dicumoe @woas
A) 20, 40 B) 40, 20 C) 60, 30 D) 30, 60

moers maiidleanym euaeriaind 34 of sttato cum™ M6
3,4,7,7,13,13,21,22,31,34, 7
A) 38 B) 40 C) 43 D) 45
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62.

65.

67.

Two signs in the below equation have been interchanged, find out the two signs to
make the equation correct.

4+10x1+5-2=4
A) +and - B) +and + C) xand + D) x and -

Sonu starts walking towards South. After walking 25 m, she tumns towards North.
After walking 30 m, she tumns towards East and walks 20 m. She then turns towards
South and walks 5§ m. How far is she from her original position and in which direction 7
A) 20 m, West B) 20 m, East C) 10 m, West D) 10 m, East

Find the number that does not fit into the series.
42, 142, 388, 1252, 5108
A) 5108 B) 1252 C) 388 D) 142

The numbers 12, 3 and 7 on a clock's face are joined to form a triangle. The three
angles of this triangle are

A) 60, 50, 70 B) 85, 45, 70 C) 50, 85, 45 D) 60, 45, 75
8 i 6
8 7 6
88 |- 77

5632 | 3773 | 3132

The number missing from the table is
A) 6 B) 66 C) 105 D) 87

In a certain code language, “HAND" is written as “27" and “WORK" is written as "§7".
How is “BOAT" written in that code language ?
A) 38 B) 40 C) 36 D) 37

Rachel is mother-in-law of Phoebe. Phoebe is sister-in-law of Ross. Chandler is the
father of Joey, the only brother of Ross. How is Rachel related to Ross ?
A) Sister B) Mother C) Wife D) Mother-in-law

The probability that a leap year selected at random will contain either 53 tuesdays
or 53 wednesdays is

1 4
A 2 B) % C) g D) 2
2 1 2
3 134 4 3 21| 7 3 r
5 5 5
The missing number is
A) 227 B) 34 C) 250 D) 222

18-



87.

70.

4+10x1+5-2=4
A) +and - B) +and+ C) xand + D) xand -

aMom) emaencg Mseood msed 25 digd msmallmy suasie ruseenog ol dlesm
30 digd msmaiimy attatio &lrasncg aidlenm; 20 digd msmmy. aflem amasaigy
aficflenmy, 5 digh menmy, @Daegjod amom eysedlo munaemy dflomie agim agpemlee
ey dlcaaileymoer ?

A) 20 digh cedlemmad B) 20 dipd sved’  C) 10digh cdermas D) 10 dnh ssheesd

maen edmasyoidaenmm el conoem mesnc apmoen ?
42, 142, 388, 1252, 5108

A) 5108 B) 1252 C) 388 D) 142
ey sadlaonrion 12, 3, 7 eubemi ey wieassme mibetlay. oo iwieasamamio
T ads0am il agemonaaeT 7
A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75
8 7 6
8 7 6
88 | 77
5632 | 3773 | 3132

@7 esamiidlea edern sarmias mmens agmoa ?

A) 6 B) 66 C) 105 D) 87

oy lams a0y sl “HAND" gl 27 agymge “WORKT agemal 67agmie
agieimoe. ag@Eid “BOAT" agmi agsmem agysimoe ?

A) 38 B) 40 C) 36 D) 37
sanoeniimges avanowiaan mpen’ o@ged. sansendl soomiiedd mammyd mpe. assmd
smowllayes megimio, snomilong Qe e MueandermimdaT. agelnd agom ETLITUEIETT
ol gelimy ecomfiemos gagm 7

| ¥

A) moganoad] B) moan C) mam) D) mwanowiEvan
auy el ] rucsmmiich 53 suaonyems 53 enpLamo DEMSEIrLEXTISE oW agil mpent ?
o B) 2 c 3 p) 4
7 7 I 7
2 1 2
3 |134] 4 3 121 7 3 7

5 8 5
aulg) enlow mReae agel
A) 227 B) 34 C) 250 D) 222
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1.

74,

75.

e

78.

78.

Receptionist : “The interviews resume on Monday. Please bring a copy of your resume
today itself.” (Identify the parts of speech of the underlined words respectively)

A) noun and adjective B) noun and verb
C) adjective and noun D} none of these
. The students of our school given a challenging task yesterday.
A) wera B) was C) have been D) none of these
| have ternble headache now as | could not sleep last night. (Choose the
suitable article)
A) a B) an
C) the D) no article required

Equanimity is one of the qualities desirable for a successful life. (Choose the word
which is equivalent to the word underlined)

A) courage B) calmness C) politeness D) none of these

John was gxculpated after a thorough investigation. (Select the word which is opposite
to the word underlined)

A) acquitted B) exonerated C) vindicated D) none of these
Several old buildings were pulled to construct new ones before the
Olympics.

A) off ‘B) away C) down D) none of these
tiger : tigress : : drake : duck : : ram : ?

A) ewe B) mare C) stag D) none of these
Select the wrongly spelt word(s) from the following :

1. equilibrium 2. sacrilegious

A) 1 only B) 2 only C) both D) neither

He is a man who is foo ready to believe things. (Replace the underlined part without
changing the meaning)

A) is credible B) is deceitful C) is fraudulent D) none of these
Had he been inoculated, effect of the disease milder on him.

A) had been B) will have been

C) would have been D) none of these

18-
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Qur students/have/just had their dinner. (Identify the wrong part)

a b -]

A) a B) b

C)ec D) this is a correct sentence

He's scarcely admitted his mistakes, 7 (Add a suitable tag question)

A) is he B) has he C) was he D) none of these
John _____ (lie) down on the bed for a short time after lunch. (Fill in the blank
using the appropriate form of the verb in the bracket)

A) lied B) lay C) laid D) none of these
“Helen is the salt of the earth” means “Helenisvery _______ "

A) hard-working B) honest C) rich D) none of these
Choose another adjective derived from “pure”.

A) impure B) unpure C) purity D) none of these
John became the de facto ruler of England. (The underlined word means)

A) actual B) democratically elected

C) hereditary D) none of these
This medicine was proscribed two years ago. (The underlined word means)

A) developed B) industrially manufactured |
C) forbidden D) none of these

Please insist the bill when you make purchases in this supermarket.
(Choose the suitable preposition)

A) with B) at C) for D) none of these
All schools (disinfect) today in preparation for tomorrow's re-opening.
(Choose the most suitable among the following)

A) are disinfecting B) are being disinfected

C) disinfected D) none of these

Direct speech : — “Helen, when will you arrive here tomorrow 7", John said

Indirect speech : — John asked Helen when there the next day.

(Fill in the blanks)

A) will she arrive B) she would arrive

C) would she arrive D) none of these
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1) 2) mmibemae
o) el 4) cAdimem
A) 1 aowwo B) 2 mogmo
& ok D) 4 aomo
q7. Tnhrmwmwmmnmﬂ“%ﬂu?
1) pueg oo
2) aldhmEHimy ald®o
3) mmouceyerdioy sases
4) memormihg)
A) 1, 2 agmics B) 3, 4 agmic
C) aggpo BT —
o8 Mwmww
1). e 2) uypn)
3) apoye .
A) 1 @owmo S
C) 4 mowo sk
00, avpy aldfiowsleys pe danfaeig, DEios feiea e
2 eorf 2) ageeqe
i — 4) alodl
Al oo B) 2 moimo
C) ogge @ 0 340
100, g oemyinad oppIEEAnER @ovs cssmyRRA SEEEES
1) wroegoa @ P
3) (vasioo 4) oot
X ogaioolil B) 2, 3 agyriau
C) 3, 4 agicy D) 1 mogmo
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